Down

loaded From: http://www.dhyea/
P A<

i # et =t e 1
Mo, of pages in Booklel 32
e H W = (5

Mo, ol OQuestions in Book et

Subject Code — 00

famg / SUBJECT

jas.com
ve ) B . Ap e

—— e

W TR HE

Cruestion Paper Booklot Mo,

GEK. &GS,

|ag

: 3.00FmE

Time : 3.00 Hours

"

ey
==

JJR - 18

Hfirwaa 3% 5 200
Maximum Marks : 200

el ey s 3 T T ¢ et A
5t v wrE T i | e

Fnammmﬂmwgmm.wmawﬂ | T = R o TEETE ST ) 2
The camilidate should easure thag Question Paper Dooklet Mo, of the Question Paper Booklet aad Answer Sheet must
bie same after opening the Paper Scal [ polythene hag I case they are different, o condidiate must olviain another
Question Paper. Candidate himself shall be responsille Tor easuring this,

1

-~
e

g Ba b

1]

TG % fe fr

=
"

r
INSTRUCTIONS FOR CANDDATES 3

Wil T T =

il 77 T ST WA §

TR W A A TR R ST AT

T WA awe T o o, 20,
4 A T T | el w1 W T e T pm T
T W T T A9E A9 % T TEE T AT ot
T O H T W 0

CAMR 377 73 3= TRT e s mn B o s
T i T W A N TR O e #
I A T e At o T R Sm o

WS T TN e e 6 T 173 W e e | e
TR AP e T S W 6T R T ol
AT | [ 9w T e T = e s
T T S U W |

A T A T S T e A T e
CECT AR Ll Ll o L e i
hﬁrﬁﬁmm?mwmﬁ
WE

T ST W O )T AT, T T S T
W | TR ST AT T TRET R W § o e WrRied |
HEE W AR |

7 e v | O W W W O W AeeE T 6
Tz 01 A1 79 F 7= v = 8 3 s e
A= AT |

SAEEl ;W T I T S T AR O ST T
W FH RN W WE A F T A ® s qfew W
T T T g T O e s
AT | AR e e wEE W a e
T TN A A wmr WM oR |

e

—

bin,

Blaeaiag @ 0w candichore i el copving o if <y ek Tzee
Iaiesend ix el i s g pusspsaiont, (0 wadndd I focked
cetriaes? S v dur e Pofece Stertiear v e sire v dfufde i
B prveveniee. Depirfiwest aun afen delvae iedior peeseientlv
fremn il fuderee cremditaniongs.

Avewir all guestions,

Al queestions carry equal miwrks, .

Oy e answer 15 w be erven foreach question,

I winmrre ihan one smswers are mnrked, it would be reated as
WEDNL Arm e,

Each quesnon lag four nliermtive responses marked s2rially
as 1. 2, 5 4 ow have to daden only one circle or bubble
inchicating the correct angwer on the Answer Sheel wsing BLUE
BALL POINT PEN.

The OMR Answer Sheet 15 mside this Test Bookler. Wihen
you are direcied 1o open the Test Booklen take our the
Amswer Sheet and il in e pariculars carefully with e
ball poin pen only.

173 part of the mark(s) of cach guestion will be
dlealwebeal for each wiong answer (A wrong snswer means
an incorreet answer or more than one answers for any
question. Leaving all the relevin circles or hubbles of any
quiestion btank will nor be considered as wrong answer. )
Mobile Phone or nny ather elecironic gadger in the
exaninion hall iz ancly peohibited. A candidate Found
with any of such objectionable marerial wieh isnher will be
strictly dealr as per rules,

Please comecily fill your Kol Numiber (0 GUAVLR, Sheet.
£ Marks can bededucted fm fillimg wrirmyg ar mcomplete Roll
Mpmher

I there iz any soft of ambiguiey/mistake gither of pricfing or
factual noture then aur of Hindi and English Version of the
Guesation, ihe English Yersion will be ireped ns siandrd.

|f S uten ufeent 1 e e T e o W el A I | 1}
R Do not open this Test Booklet until you are asked to do so. Y,

0o o |

LT

Downloaded From: http://www.dhyeyaias.com



ﬂ%ﬁamﬁﬁﬁﬂhwﬁﬂm

/87

(A) e % AP & (1920) & qv=a
Wit = wif = T v

. g W R T

(B) 1948 o =g o wmurfl amaR 9w
g%maﬁrnﬁa&MHﬁ

|

Frafeifisn e o @ vt s gf

(1) e (A)

(2) aw (B)

(3) A (A) T E(B)

(4) (A) 3 (B)gH

Fr=feafiae 2 & firm v 3 o fivdoe
& Ao e e E 7

(1) &2 (2)

3 & (4) TE

Freferfian o 2 = o e Ei-sfimw
TR T TE R 7

(1) =FmrE-1l (2) TEZuTe-1
(3) SEaTE (4) wENE-|

T H & Y wemmeE o #
vXfiferes wgA = v T @ A
(1) Trorhr =iy % foo |

(2) i T foam & wE & foe |
(3) TR Ty & fe o

(4) g =l sty & fom |
s, fordl wg-a wntens s §
o firedt off

(1) WroeRE

(2) et oo 3

(3) i AES

(4) Teorafie i

Frafefen & & forma Tomaen &) 29h
T S 181718 &t anfiaey gfy
it et ot 7

(1) 2fE i

(2) =Ted Heis

(3) MeR Aol

(4) o9 =T

Downloaded From: http://www.dhyeyaias.com

Downloaded From: http://www.dhyeyaias.com

Which of the following statements

is‘are true

(A) After the Nagpur Session (1920)
of Congress, the provincial
Congress  Committees  were
constituted on linguistic basis,

(B} In 1945, Congress rejected the
demand of formation ol provinces
on linguistic basis,

Select the correct answer from the code

below :

(1) Only {A)

(2) Only (B)

(3) Neither (A) nor (B)

(4) Both (A) & (B)

Sixteen coins of King Menander have been
found from which of the following sites ?
(1) Bairat {2) Nagari

(}) Rairh {4) MNagar

Which of the following rulers does nat
belong to Gurjara-Pratihar dynasty 7

(1) Nagabhatta-11 (2) Mahendrapal-I
(3y Devapal {43 Bharatrabharta-|

In pre-medieval kingdoms of Rajasthan,
the designation “Naimittika™ was used for
(1) Roval bard

(2) Head of public health department
(3) State astrologer

(4) Chicf judicial officer

The revolutionary, who was convicted
in the Mahant Pyarelal Murder case
(1) Zorawar Singh

(2) Shyamji Krishna Varma

(3) Kesari Singh Barhat

(4) Vijay Singh Pathik

Who among the following negotiated
Subordinate Alliances of 1817-18 with
Princely States of Rajputana ?

(1) David Ochterlony

(2} Charles Metecalf

(3) Arthur Wellesley

(4) John George
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The princely state, which was not the
part of Rajasthan Unioen formed on
25" March, 1948 7

(1) Bundi (2} Pratapgarh
(3) Udaipur (4) Shahpura
Who was the editor of *Tyag Bhumi® ?
(1} Hari Bhau Upadhyaya

{2) Jai Narayan Vyas

(3) Devi Dutta Tripathi

(4) Rishi Dutt Mehta

Match the following :

Temple District
i. Kameshwar a. Alwar
Mahadev
ii. Shitaleshwar b, Jodhpur
iti. Pipala Mata ¢. Jhalawar
iv. Milkantha d. Pali
Choose the correct eodes :

i ii i v
(1) a C d h
(2) d c b a
3y d b i a
(4) a b c d
Which of the following temples of the
Chittorgarh Fort is a Jain temple ?
(1) Kumbh Shyam Temple
(2) Saatveesh Devan
(3) Samiddheswar Temple
(4) Tulja Bhawani Temple

Which of the following painters does not
belong to Alwar School of Painting ?

{1} Jamnadas {2) Bakasaram
{3} Managkram (4) Nandram

Which among the following is not
correctly matched ?
ork Author
(1} Bol Bharmali - Yadvendra Sharma
(2) Pagi — Chandra Prakash
Deval

{3) Kodmade - Meghraj Mukul
{4} Pagphero — Mani Madhukar

The singing tradition with which
Gavari Devi was associated :
(1} Langa (2) Mand
(3) Talabandi (4) Thumari
o
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Women saint Daya Bai was a disciple of
(1} Saint Charandas

(2) Saint Mimbarkacharya

(3) Saint Raidas

() Saint Ramcharan

The dance form related to Garasia Tribe is
{13 Gavari {(2) Loor
(3 Bam (4) Terahtali

Congider the following

about Vijaydan Detha :

(A) Vijayadan Detha was a famous writer
of Rajasthan, whose story was
adapted as Charandas Chor play.

(B} Vijaydan Detha was o co-founder
of Rupayan Sansthan,

Choose the correct answer from the

code below :

(1) Only(A)is true.

(2) Only (B} is true.

(}) Meither {A) nor (B) is true.

{(4) Both (A) & (B) are true.

statements

Mateh List 1 with List 11 and sclect the
correct answer using code given below :

List-1 List-11
(Mountain Peak) {Location/Country)
A. Elbrus (1) MNew Zealand
B. Kilimanjaro (1) U.S.A,

. Mt Cook {i11) Tanzania
D, McKinley {iv} Russia

Codes :
A B C D
(1) i) Giv) (i) (0
(2) (iv) (u) (i) (1)
(3y (ivy Gy Gy o (i)
(4) (i) (i) Aiv)y (i)
Amony the mathematical indices for
measuring  bio-diversity, which one

shows the mean species diversity in a
habitat at a local scale ?

(1) Alphaindex (2) Betaindex
(3) Gammaindex (4) None of these

oo
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Which is not a correet match

Industrial Region Country
{1y Ruhr - Germany
{2} Southem New = Upited

England Kingdom
{3) Po Valley = ltaly
(4] Kanto Plains - Japan

Match List I with List 11 and select the
comrect answer from the codes given
below :

List-1 List-11
(Canal) (Connects)
AL Kiel (i) Mediterranean sea &

Red sea

Elbe estuary & Baltic
sea

B. Sop {ii}

C. Panama (iii) Atlantic ocean &
Pacific ocean

D. Suez {iv) Lake superior & lake
Huron

Codes :
A B C D

(1) (i) QOw) (i) (i)

{2) (i) (i) (i) (iv)

(3) (iv) (i) (i) (1)

4) @i} (i) @) (iv)

Which of the following mountain peak
15 not situated in Eastern Ghats ?

{13 Gal Konda

{2) Salher

{3} Sinkram Gutta

(4) Madugula Konda

Which 1s not a eorrect mateh 7

Shifting State
Agriculture
{1} Pondu — Qudisha
(2} Masha —  Himachal Pradesh
{3) Poonam — Kerala
{4 Jhoom — Asgsam
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A s fed (1) 103
B. Fade o (i) 406
C. TR TR (iii) 544
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A B C D
(N Gy (iv) (B (i
(2) () (i) (0 (v)
(33 (iv) Guy (i )
(4) (iii) (i) vy ()

4. WiA IEhEe faRRE (BEL) U

(ISRO) % HEaT & T 2 -
(1) i i
(2) GaAs @R E
(3) CHTY] AR TR
(4) H-TH

25, gell-1 5 FEA-11 $ g Hifi T
£ fag T e B T WA H
-1 -1
(e (i)
A WET (i) T
B. AR (i) W
C, ¥ (i) TG
D. "W (iv) WS
FE
A B C D
(1) Gy () Gv) (i)
(2 () (i) (i) )
(3) (iv) Gii) (1) ()
(@) (i) (i) @ (v
26, Freffis 8 @ # @ varfal geem d
Rior vda At & e E ?
(1) Hebeq qETTEEl (2) SR
() e wdd  (4) PrEnwEw
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4.

25.

26,

mMatch List 1 with List 11 and select the
correel answer using code given below :
List-1 (Protected List-1l (Number
areas of India) in year 2018)

A, Community (i) 103
Reserves

B. Conservation
Reserves

C. Mational Parks

0. wild life
Sanctuaries

Codes ;
A B C D

() (i) vy (1) (i)

(2) (iti) (i (1) ()

(3) (iv) (m) (i) (i)

@) i )y Gv) M

The Bharat Electronics Ltd. (BEL) is

collaborating with ISRO to develop

(1) Agro technelogy

{2) GaAs solar cells

(3} Muclear technology

{4y C-DAC

(i) 46

(i) 544
(iv) 76

Match List | with List 11 and select the
correct answer using code given below :

List-1 List-11

(Dristricis) {(Mountains)
A, Jalore (i} Barwada
B. Jaipur (ii} Jharola
C. Alwar  (iii) Raghunathgarh
D. Sikar {iv) Bhangarh
Codes :

A B C D
(1) @) (i) div) (i)
(2) (i) (my () (v)

(3) Gv) Git) G (D)
@ (i) ) 1) (v

Which of the given hills is an extension
of vindhyan ranges in Rajasthan ?

(1y Mukandara hills

{2) Dora mountain

(3} Alwar hills

4y Girwa hills
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27, fr=r =i gifem i - 27. Match the following :
Tq‘[.] '@_" Lifst-I (Major  List-1l (Beneficiary
E‘ﬁm mmﬁa irrigation districts of
faiteE) o S ﬁlﬂ] A gt_*:;fect} irrigation projects)
2 @ Bif - Sidhmukh (i) Jalore and
m%“ﬂﬁ TR AEH Project Barmer
. E@r—n . i B. Tr:.lar_mﬂda (i) Jalore. Pali and
; AN, roject Jodhpur
gfEa=T TR C. Jawai (i) Udaipwr  and
C. (iii) FEAT wE wareTg Projject Pratapgarh
P D. .fnkllmm (iv) Hanumangarh
D, (iv) qa? Project and Churu
p LRI Codes :
Rl

A B C D

HIE ; vl @

X B b (h E!'r'} t_l} [!fl (iii)
Mm@ 0O @ () () (iv) G (i)
(2} (1} (v) (i) (i) () (iv) () (i) (i
(3) (iv) iy i) (i) (4y (1) i) (i) f{l:i

(4) (1) i) i) (v
28, mﬁqﬁ—mnﬁ:ﬁ W Feg=1 B ATl 28. The dust storms originating  in

et e % foro gt 2 - Rajasthan in May and June months are
() B8 wH W HEE gt 6 caused due to
Taqfe (A trrigin of convectional currents at
(@) sl Tt <fim e w Lo
*umimd | (B Aravalli hillls are parallel 1o south-
@) 4 - - vnfsferu winds
(1) (30)wE (=) ‘Eﬁ- (C) origin of fast speedy easterly
@) (3), (%) (@) ol
Q) (o) o (=) (1) (A)and(C)  (2) (A)(B)and(C)
(4) hae (37) ; (3) (A)and(B)  (4) Only(A)
9. PoddasRdsuramt 7 :
d il 29, Which state ; i
(31) : e 3 r'ullnl;. !:isg L_;urncnts are correct from the
2002 (A) Marble development and
(®) waﬁm% _ 3015 a0 Emfisne:;-lvalmn Rule - 2002
@) : 2 " & ajasthan Mineral Policy - 2015
reey EE (C) E::‘ilr;d _T;gi!rrml Foundation Trust
s -2
(3) T HIHH i e (D) Rajasthan Minor Mineral
Frepmraedt @i w8 2016 %) Concession Rules (Amended upto
w2 May 2016)
; - Codes :
E_i} Fae Em}! (4) ke (=) (1} Only (A), (C) and (D)
2) e (W), (%) W () (2) Only (A}, (B) and (D)
(3) e (31) W (g) (3) Only (A) and (D)
(4) -a-,En;ﬁ (4} All of these
oo 7 = |
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v

frgfarfas @ =29 & whEl = TasE
T FRRET ST TS B 7

(31) = vF T IEER

(@) AT 3R

(=)

(z) HeHmEe

e ! ]

(1) {31) @3 (F),
(2} (31), (4) " (&)
(3) (31), (&) = (¥)
(4) (), (@)= (3)

6 2017-18 (Feew 2017 @%) #
e & 8 T yalfus = de
(Crude oil) T IeqTe W EATR ¢

(1) HERrT-AriR 4=

(2 afim

(3) - Al

(4) = &l Tl

FEORT 2011 % FHE: WA U
TR 1 AT e 2 S e 7
(1) 24.87% 99 31.15%

(2) 34,15% U9 24.87%

':1} -"L H?“I‘In\:ﬂ 14 I"'"dr

{$ 31.15% T 24.87%

Frfafias § 8 Towee 8 SR-8
wEwEul @i T I A 2

(39) =T e FE (4) i 3T
() gl e (3) TR 3

e - g

(N ()@ (=)

(2) (31), (|) wH (T)

(3) (), (@)W (B)
(4) (H), (@), (7)W= (3)

f--:1||?m=|1¢ ;%m:r%ﬁn
FAITE =i S H
zﬁﬁamﬁw% ?

m @Hﬂa‘taﬂtmagt

{U maﬂﬁﬁﬁ

4 TET w

YETEL, ATEAT i AT Hige e
ﬁﬁﬂﬂﬂﬁﬂmuuml Venture) & 7
(1) ONGCL Td ¥itd #ii

(2) OIL U T HEHR

(3) HPCL TE HHd 83FH

(4) HPCL U8 o™ TN
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Rajasthan is almost asole producer of
which of the following minerals ?
(A) Lead and zinc ores

(B) Copper ores

(Cy Wollastonite

(D) Salenite

Codes :

(1) (Ayand (C)

(2) (A)(B)and (D)

(3) (A) (B) and {C)

(4 (A AC) and (D)

From which area of Rajasthan the
maximum  crude ol production  was
received in the vear 2007-18 (upto Dec.
Ty

{1) Bikaner-Nagaur basin

(2} Jasalmer basin

(3) Barmer-Sanchore basin

(4) MNMone of these

What is the percentage of urban

population in India and Rajasthan

respectiv r:'lr;, as per census 2011 7

(1p 24876 and 31.15%

{2y 34.15% and 24.87%

(3) 20.87% and 34.15%

(4) 31.15% and 24.87%

Which smong the following are important

miineral based industries in Rajasthan 7

(A) Zinc smelting industry

(B) Cement industry

(C} Electronic industry

(D) Marble industry

Codes @

(1) (A)and (B)

(2) (A).(Cyand (D)

(3) (AL(B)and (D))

(4) (AL (B () and (D}

As per 2011 census, which districts of

Rajasthan are having lowest percentage

ol Scheduled Tr1hl.. population in their

total population ?

(1) Sikar and Dhaolpur

{2y Jhunjhunu and Churu

{3) Bikaner and Nagaur

(4) Ganganagar and Hanumangarh

Proposed ol refinery at Pachpadra.

Barmer is a joint venture of

(1) ONGCL and Government of India

(2} OIL and Government of Rajasthan

(3} HPCL and Government of India

(4) HPCL and Government of Rajasthan
oo
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40,

00

ﬂﬂ?mgtﬁqﬁ%? gﬁ

(1) WieEm =

(2) 9% — Y

(3) TR YR - W

(4) e _ TgmEy

S v =19 fisrifea F 9 2
w1/8 Frate wwa e sfufrs, 1019
% TEd BHTGY 7

(A) 1926 (By 1937 () |u4s
el I H 9 A i ez | ifw -
L

(1) hael (A)

(2) (B) 3R (C)

(3) (A) 3R ()

(4 (A), (B) 3k ()

T e wh d s

T fodt 7

(1) I HEE =T

(2} =g Teavq

(3) A TR ST

(4) #HH Hefl

URHAT HEAYE ga1 % wrE | Bl

TS weaEd 7

qm?n;amnmﬁwmmmﬁaaﬂ
[

(B) 98 uraE Far=e =1 afiomg of |

(C) 48 Foe T ot |
(D) 8 = At & mem & sl o |
HEl I B = i o g e @

E T4
(1) (A) 3R (D)

(2) (A) 3R (B)

(3) (B) 3 ()

(4} (A) (B).(C) 3 (D)

"M % T AT % st )
FY UF wifterd g s U AR F
Frerenia <t smerfl, fomrenr smg fafy g
U F i e

(1) 159 Bfaum w9 2o

(2) 169 wfEaum g gm

(2) 173 =faum F9ieA g

(4) 189 s Feies g
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Which is not a correct mateh ?

Districi Mascot
(1) Bhilwarg - Peacock
(2} Churu — Black Buck
{3) Sawai Madhopur - Lion
{4 Jaisalmer Creat [ndian
Bustard

Which of the following election/s of the
Central Legislative Assembly
wasiwere held under the Government
of India Act, 1919

(A) 1926 (B) 937 (C} 1945
Select the correct answer using ende
given below :
Codes ;

(1) (A)only
(3} (A)and (C)

(2) (B)and (C)
(4) (A (B) and (C)

Who  has  authored  *Gandhian
Constitution for Free India® ?

1y Aruna Asaf Al

(2) Achvut Patwardhan

(3} Shriman Narayan Agarwal

A4) Humayun Kabir

Which of the following statements are
correct  im regarding 1o Indian
Constituent Assembly ?

{A) It was not based on Adult franchise.
(B) It resulted from direct elections.
(C} It was not a multi-party body.

(D} It worked through several committees.
Select the correet answer using code
given helow ;

Codes :

(1} (A)and (D)

(2} (A)and (B)

{3) (B)and (C)

{(4) (A)A(B). (C) and (D)

“The age of a Judge of the Supreme
Court of India shall be determined by
such authority and in such manner as
Parlioment may by laws provide”,
inserted by

(1) 15" Constitution Amendment

(2) 16" Constitution Amendment

(3) 17" Constitution Amendment

(4) 18" Constitution Amendment
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41. wm wfvwr] & weafag fraitea o

42,

43.

ﬁrqﬂm@ﬂgﬁq:

(A) TiieTR-TY &= T9E T
(B) e R 9 e U
(C) firrat fivea s v |9
(D) .3, T F9H HEHE U5
HEY I ] A e

(1) (D) (B).(C)L{A)

(2) (A)(B).{CL (D)

(3) (D). (A)(B)LIO)

{4 (D), (Ch(B){A)

Frerifera o i wauifis aif (1976) %
g RE 7

(A) LHE, ¥4 (B) .. 1

(C) sigs st (D) .09, €A
Tl 3 % 999 A= feu gz | it

%2

(1) {A). (B).(C) 3 (D)
(2) (Al (B) 3(C)
(3) (A). (B) (D)
{4) (B).(C)3W (D)

WA o HRYE % HTe9q 240 F 0T
%9 HY Ty &1 % fog ffem = R
wﬁﬁﬁ%ﬂ?ﬁﬁnﬁﬁmm
qm HE gafea TE R 7

(1) 240(1) (%) - 37=9H aik =R g
(2) 240 (1) (@) — S&EN

(3) 240 (1) () —gg=d

(4) 240 (1) (9) - T s =

Frifiea § & <17 ft @rfe = ym F

skt ok E o
R

fareram R www m&q;a;gg

e =Bt e =k i@ R 2

(1) 26 F=gaw, 1962

(2) 3Fm=m, 1971

(3) 2594, 1975

(4 269, 1975
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Select the comect chronological order

of the following judgements dealing

with Fundamental Rights :

(A) Golaknath v/s State of Punjab

(B) Keshwanand Bharti v/s State of
Kerala

(C) Minerva Mills v/s Union of [ndia

(D) A. K. Gopalan v/s State of Madras

Select the correct answer :

(1} (D) (BLAC) (A)

(2) (A).(B).(C).(D)

(3) (D), (A}, (B), ()

(4) (DL(ChL(BL(A)

Which of the following were members
of the Swaran Singh Commuttee (1976) 2
{A) A.R.Antulay (B) S.S.Ray

(C) Haridev Joshi (D) C. M. Stephen
Select the comect answer using code
given below

Codes :

(1) (A) (B),(C)and (D)

(2) (A} (B} and (C)

(3) (A} (B)and (D)

{(4) (B).(C)and (D)

Which one of the following pairs is not

correctly matched in terms of the power

of the President of India to make

regulation for certain Union Territories

under Article 240 of the Indian

Constitution ?

(1} 240(1)(a) — Andaman and
Micobar [slands

(2) 240{1)(h) — Lakshadweep

{3) 240 1) {c) - Puducherry

(4) 240(1) {d) — Daman and Diu

On which of the following dates the

President of India. using his powers,

declared by proclamation that a grave

emergency existed where the security of

India was threatened by internal disturbance ?

{1y 26 October, 1962

{2} 3 December, 1971

{3) 25 June, 1975

{4} 26 June, 1975
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5.

W |l % =g 87 % arnta
WA 1 gt st 27 &

(1) &% % G werl 1w daw i
(2) 692 % 2T Tl % Hyws iy &
(3) #Oe % 5l wedl % wge
(4). TH H1Y GHT HHE % a1 T i

T % Wi ot w1 dare g
& swla Frem 377 % 37 e &
HEH T R U fem st fes Tt
I EEAE 7

(1) 19 (2) 20

(3) 21 (4) 22

frrifasm 4 H ®i9 o wnde T 6
faefta aftfemi § 2

(A) wTEe uitfa

(B) i S wfify

(C) i 3ms wfifi
[D]ﬁ‘ﬂaﬁﬂ;ﬂﬂqwnﬁfﬁtﬁ

Haw
el IR 1w = g e @ Fifv
e

() (AN ()M (D)2) (A), (B) 3 (D)
(3) (A)(B)3R(C)(4) (B).(C)3M (D)

A % P v weeie wgs =1
I VT ¥ g2 9H # wiE B i
CRCT e o

(1) ST Feae

(2) WTE =1 T

(3) F=Ia9 AT w1 =it

(4) 9 T T=T ITHIT H e

HRr Hchdl SN £ ) fE
I W T ¢

(n mﬁ

(2) F9AHT

(3) =y wfify

(4) virelva s TR s

Sfed Al i sEumon 1 ywera
fraendgiad s

(1) ST

(2) HYw U= Snfem

(3) frw

4
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50.

The President of India addresses the
Parliament under Article 87 of the
Indian Constitution

(1) na joint sitting of both Houses of
Parliament.

in a joint meeting of both Houses
of Parlisment.

(3) ina joint session of both Houses of
Parliament,
(4) both Houses of Parliament

assembled together.
Under Rule 377 of Rules and Procedure
and Conduct of Business in Lok Sabha,
the maximum number of matters that
can be raised by Lok Sabha members in

one day are
{1 19 (2) 20
(3 21 (4) 22

Which of the following are Financial
Committees of Indian Parliament ©

(A) Estimates Committee

(B) Public Accounts Committee

(C) Committee on Publie
ertakings
(D) Joint Committee on Salaries and
Allowance  for  Members  of
Parliament

Select the correct answer using code
siven below
odes :

(1) (A)(C)and (D)(2) (A), (B) and (D)

(3} (A).(B)and {C) (4) (B).(C)and (D)

The Comptioller and Auditor-General

of India can be removed from his office

in like manner as

(1) Speaker of Lok Sabha

(2) Attorney General of India

(3) Judge of the Supreme Court

(4) Chairman of Union Public Service
Commission

Central Vigilance Commission was set

up on the recommendation of

(1) Gorwala Report

{2) Kriplani Committee

(3} Santhanam Committee

(4) Administrative Reforms
Commission of India

In which country the concept of Public
Interest Litigation was originated ?

{1) Canada

{2} United States of America

(3} United Kingdom

i4) Australia
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51.

Freifiea #§ § 9 1 weEEl i
it wfafEm, 2005 & 4
sfeafEa ® 7

(A) ¥ & URE T

(B) FAT T SeheH

Hafad AmfEsar
(D) wirRaifa Feg i wga
H‘g"raﬁﬁﬂ‘ﬂﬂﬁﬁqm{"ﬁﬂ hiferg :

u} %ﬁ'ﬁ A}B
(2) (A) 3R (B)
(3) (A), (B) 3 (

(4) m} (B). :C} (D)

%ﬁ -It ifer Hife A=
T e ﬂaﬁmwwaﬁrﬁq
(g“ =11

) (IE1h)
w (iy fiams we
[E)ﬁﬂﬁ?‘r (i) @ wEEE e

e ST BT
(C) Tt& (i) & Profews o
S 30 ; ede
HE §IH T U
(D) (iv) ofhn © EobRfs
gﬁ’m FgyH ;¢
et aie 9
v i
(A) (By (€) (D)

(1) Gy () (1) (n)

(2) () () (i) (v)

(3) (i) (iv) (1) (i)

4y (i) iy () ()

e % dfaum F 368(2) %

IuE] & #Ea afe w5 fadas g S

HOg g0 ifE 'R % UvE TeRH

fenmmeT & T e R AEREA

fordt s B, A

(A) T Seeg ot s gd 1 8 |

(B) s g9y =R S EFHaT R |

(C) &ﬁmﬁaﬁémmﬁmﬁ
frrsiEEa 2

IR T e e T i

%<
(1) ae (A)

(2) (B)3MR(C
(3) (A) (C)

(4) (A), (B) AT (C)
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Which of the following tenminology
is/are mentioned in the Preamble of the
Right to Information Act, 2005 ?

(A) Transparency of Information

(B) Revelation of Information

(C) Informed Citizenry

(D) Paramountcy of the democratic ideal
Select the correct answer using code
wiven helow : |

Codes 3

(1) (A}only

() [A}an(f{B}

(30 (A) (B)and (C)

(4) (A (B). (C)and (D)

Match List — | with List — 11 and select the
gorrect answer from code given below :

List -1 List - 11
{Authors) {Buooks)
(A) Al (i) Divide and Cuit
Kaohli i
(B Granville (i) The Success of
Austin India’s
Democracy
(C) Penderal (i) The Republic of
Moon Inclia ;
Development of
its Laws and
Constitution
(D) Alan (iv) Working a
Gledhill Democratic
Constitution © A
History of the
Indian Experience
Codes ;
(A) (B} (C) (D)
(1y fmr) {ov) {3y {ii)
(2y (i) () (m) (iv)
(3) (i) (iv) (1) ()
(4) (1) (i) (o (iv)

Under the Provisions of the Article

368(2) of the Constitution of India, it a

hill comes to Rajusthnn Legislative

Assembly after &su'u,, by Parliament

of India for resolution to rectity, then
{A) Resolution can be passed by
Assembly.

(B} Resolution can he rejected by
Assembly.

(C) No Amendment shall be proposed
1o such a resolution.

Select the correct answer using code
iven helow :
odes :

(1) (Ayonly

(2} (B)and(C)
(3) (A)and (C)

(4) (A)(B)and (C)
0o
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54. ﬁﬁfﬁmﬁﬁa&:mmﬁ:ﬁmﬁw

T | 7w ws i wyw Agw 5

TN a1 & 7

(1) TR Tt s wffiay, 1994

(2) T =R T frem, 1996

(3) TR wEEE e (3T w5y
HE & e ER & wry §
Iar=n ) HfafEm, 1909

(4) TIEE EE W (T

FIHE S 4 T e & gy i
3uton) fEm, 2011

Freifen 4 4 o & geE geem
ﬁmmﬁh-nﬁw#mw#ﬁr%
27

(A) Bftea sish

(B) Tar=r=ror oy

(C) T Tt

(D) =qut 7

Tl I w e A Ry o @
=hifan

W

(1) (A).(B) 3R (C)

{2) (B) & (C)

(3) (C) 3 (D)

(4) (A) 3 (D)

%hﬁmﬁrﬁmﬂmﬁmm,

T g @t a6t w1 e

27

(1) e sl v of 3y-gue

(2) veTEs witfael 6 v gffel &
HETH

(3) |Ya T U

(4) Torem witeg %1 39-wpw
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Which of the following Act/Rule of
Rajasthan has a provision of a Joint
meeting of Gram Sabha 9

(1} Rajasthan Panchayati Raj Act,

1994
(2) Rajasthan Panchayati Raj Rules.
1996
{(3) Rujasthan Panchayati Raj

(Modification of provisions in
their application to the Scheduled
Area) Act, 1999

Rajasthan Panchayati Raj
(Modification of provisions in
their application to the Scheduled
Areas) Rules, 2011

(4

Which of the following Chief Ministers
have not held the post of the leader of
the Opposition in Rajasthan Legislative
Assembly ?

{A) Haridev Tashi

(B} Shivcharan Mathur

(T} Ashok Gehlot

(D} Vasundhara Raje

Sclect the correct answer using code
given below :

Codes :

(1) (A)(B)and (O)

{2) (B)and (C)

{3) {C)and (D)

{4) {(A)and (D)

After  receiving complaint  against
following office bearers Lokayukta,
Rajasthan cannot make investigation
against

(1) Pradhan and Up-pradhan  of
Panchayat Samities

Chairman of the Sthyayi Samiti of
Panchayat Samities

Sarpanch and Panch

Up-pramukh of Zila Parishad
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60,

frerifra & & S 8 SR TEEH T
aEEER FEm S e b ad # 7

(A) TEPTTTEA T SR i 18 W,
1999 =1 T SHUEEAT g 51 |

(B) 4 STRFT A, 2000 & i g |

(C) WFE  HfEERR TEW (HYH)
FfufEm, 2006 % AR T §
UF AEH UE J HEEl w1 gEuH
fermman 2 |

(D) 395 YOgs 7w § 8 0% I
A % AR E |

we go o = A Ry e @ Hif

F:
() (AL (B3 (C) (2) (A), (B)HT(D)
(3) (B)(C) 3 (D) (4) (B)FAR(C)

T e % e =i §
| T TR I e § =t

THEE 7

() UA.UH. ST e
() ﬂiﬂ.iﬂﬁﬁ

(3) 0. HIYl

(4) oy, FmE

= 1 & S e e % Wi
e, s < s B 7

(1) = <fe faerd

(2) i e s

(3) wifaeTe S9er

(4) T FeTum

T fauren S wee % Rl
Syt T w6 it o e
g dden A s T E 7

T B aTeus ) wwafa
(A) srwrﬁm{ll 7

(B) wearE g fashnfiesr = we 3@
T HATE |

() e wre 2 uiea e fafie g
= Hifea W |

(D) T% B A H uH T e wEE
S TET B

HA IO W A e e e @ i ;

He

(1) (A} (B)S(C)(2) (A)(B)3f(D)

(3) (A)(C) (D) (4) (A)FAR(D)
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Which of the following statements are
comect in context to Rajasthan State
Human Rights Commission 7

(A) Itwas constituted on 18, January, 1999
by notification issued by Government
ot Rajasthan.

The Commission became functional
from March, 2000.

Rajasthan Human Rights Commission
is having one chairperson and 3
members in accordance with the
provision of the Protection of Human
Rights (Amendment) Act, 2006.

One of its former Chairman's has
retired judge of Supreme Court of India.
Select the correct answer using code
given below :

Codes ;

(1) (A) (B)&(C) (2) (A)(B)& (D)
(3} (B), (C)& (D) (#) (B) & (C)

Which one of the following judges of
Supreme Court of India has not worked
in Rajasthan High Court as judge 7

(1) Justice N. M. Kasliwal

(2) Justice B. 5. Chouban

(3) Justice A. K. Mathur

{4) Justice R. C. Lahoti

Who ameng the following has held the
t of Protem SIR}cﬂk:r, Speaker and

@puty Speaker of Rajasthan Legjslative

Assembly ? :

(1} Poonam Chand Vishnoi

(2) WNiranjan Nath Aacharya

{3) Shantilal Chaplot

(4) Paras Ram Madema

Which of the following statements are

correct in reference to rule of procedure

for ‘Motion For Adjournment on a

matter of Public importance” in

Rajasthan Legislative Assembly 7

(A) Speaker’s consent necessary to
make mofion.

{B) The motion shall raise a question
of privilege.

(C) The motion shall be restricted to a
specific matter of recent occurrence.

{D} Mot more than one such motion
shall be made at the same sitring.

Select the correct answer using code

given below :

Codes :

(1) (A), (B)&(C) (2) (A).(B)& (D)

(3) (A)(C) & (D) (4) (A)&(D)

(B)
(€)

(D)
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oo

(3) Usae o fadEe W Uty 6
% fordl S 27 o
T=E9TE A7 Tl
EIE I GER-ELICES FHT
T I AT wifed w2 |

8 Sft.wm A, (aeg vl @ar aw) 3 et
T TR 7

(1) gﬂiﬂﬂﬂﬂ%fﬂqﬁmﬂ

(2)

(3) 9T Sy

(4) =

vt 4 & fope wma o = 2016 @ 2021
& for + /=2 whwe & oefir = % o
%ﬂ;ﬁmmm—vﬁrﬁlmaﬂﬁﬁﬂ

7
(1) et fiad §=
(2) WTE TFH
(3) ifg 3mam
(4) =tegai = smEm
T4 2016~ 17 % 20 e 3 fdeft weey
i % = smmfame § amem &
a W Pt & = 2w e woam g
(1) withrs (2) famE
(3) =mE (4) 4wH.U
T e B gee 8 s
fieen oY b it e & 2
(1) e it 5w e e
WA |
(2) 8 ¥a W IeTel s weEmad i
it wga wre w5 #g g
=1 T I3 A @R |
(3) Feferaeenail & Ry seiem
% BT aftada 6 20 i 9 i 2 |
(4) 2wt

(h

Downloaded From: http://www.dhyeyaias.com

15

6l.

62,

63,

04,

Under the Constitutional provision on a
Bill, recommendation of the Governor
wis required, but without
recommendation of Governor it was
introduced in Rajasthan Legislative
Assembly and passed by it and sent 1o
the Governor, now

(1} where assent to that Act was given
by Governor shall not be invalid.
The Governor can refuse to assent
on the ground of the violation of
Constitutional provisions,

The Governor will send such a Bill
to the assent of the President,

The Govemor or the President
assents it, then the court will declare
it unconstitutional on the ground of
Constitutional provisions.

What has been kept under the purview
of Goods and Services Tax (GST) 7

(1) Aleohol for human consumption
(2} Electricity

(3} Petroleum Products

(4) Ghee

Which of the following fixed the four
percent inflation target in India with
tolerance level of +/~ 2 percent for the
period 2016 to 2021 7

(1} Reserve Bank of India

(2) Government of India

(3) NITI Aayog

{4} Fourteenth Finance Commission

In terms of the share in Foreign Direct
Investment Equity inflows, in India
during 2016-17. which of the following
countries is on the top 7

(1} Mauritiys (2) Singapore
(3) Japan (4) US.A

Why companies go for business process

re-engineering - with the help of
technology 7
(1) Customers® demand and

expectations  are
increasing,

IT being leveraged to provide
competitive edge in products and
services at lower costs,

The pace of change has accelerated
with  the likeralisation  of
ceonomies world over,

{4) All of these

continuously
(2)

(3)
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08,

T0.

7L

e § @fea qm SR w S
e W E -

(1) =esrit uftngfa 4

(2) =i fast @R

(3) FTEAT R W

(4) =1 GHOTH =T

fre 8w T R aee & eE I

# wftnfora i foren s & 2

(1) = et

(2) =i

(3) "R Rl 9 e Iyl |
YTH S 7T AT

(4) eTawd

e Fermdta T 1 few mER

TR 1 7

(1) st == % e s waig

(2) anfefes wafs vd FEET faerE

(3) 3t die ve wTer wAEEfE Hdie

(4) dEm, uwem wEn e IS
g 597

FfereA (A) : wn g o = faada &
) ST S whif A R

RO (R) = Hl 2 i o e T i
TH A REdA AR |

(1) (A) 3 (R) 2T o & afk (A)
e =t (R) R |

(2) (A) 3 (R) 2HT w6 &, A6 (A)
1 98 TEER (R) FET R |

(3) (A)wEL R, AfE (R)TEa #

(4) (A) 7T B, T (R)FE R |

T % W U I HEHiE H
s ad 2

(1) 1999-2000 (2) 2005-2006
(3) 2010-2011 (4) 2011-2012
=i 2017-18 1 e # B i
(2011-12) W el T =] 3c91G Hi
afg ot
(1} 7.16%
(3) 6.23%

(2} 4.5%
(4) 10.67%
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The most volatile part of the Organised
Money Market in India is

{1) Govemment Security Market

{2) Commercial Bill Market

(3) Call Money Market

(4) Certificate of Deposit Market

Which one of the following is not

included in the revenue mecount of

Union Budget 7

{1} Interest Receipts

(2} Tax Receipls

(3) Profits and  Dividends of
Government  Departments  and
Public Undertakings

{4) Small Savings

Eleventh Five Year Plan emphasised on

(1) Economic Growth with Social
Justice

(2) Feonomic Growth and Human
Development

(3) Faster and more inclusive growth

{4) Faster, sustainable and more
inclusive growth

Assertion (A) : Cost push inflation i1s
caused by shift in aggregate supply
Curve.

Reason (R) : Shift in  aggregate
supply curve takes place because
of increase in wages,

(1) Both (A) and (R) are true and (R}
is the correct explanation of (A).

(2) Both (A) and (R) are true. but (R)
is not the correct explanation of
(A).

(3} (A)istrue, but (R) is false.

(4) (A) is false, but (R) is true.

Which is the base year of Rajasthan’s
general wholesale Price Index ?

(1} 19992000 (2) 2005-20006
(3} 2010-2011 (4) 2011 -2012

Growth rate of GSDP (Gross State
Domestic Product) at constant prices
(2011-12) for the year 2017-18 in
Rajasthan was

(ly T.16% (2) 4.5%

(3} 6.23% (4) 10.67%
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78,

e # F a & o ¥ 9w 1 ree
wifert & oy 5 & =l w1 e watfrs
TS WM FL @R 7

(1) Sl = 7 farm

(2) TG FI T T

(3) -t T

(4) *3 FgE

et 3 @ frm A g vfee &
stereenfie fem e waifrs 2 -

(1) g (2) weE=l

(3) ity (4) T

TR GR 4 759 § 79 wiere
foreafermers B wren 61 8 | a4z =3
i fp g 7

(1) afani (23 diwt
(3) i (4) TR
THH & Jeq 87 4 P i & 59 o

s Fareht v (Lsp) T 2 7
(1) Seid 317 =hien 39 (3l ter)
(2) Toret, weer v gl :
(3) W U wiEm

(4) Tl weq

ﬁﬁrﬁﬁﬂ?ﬁmmﬂmﬁa—%ﬂﬂﬁf%?
(1) e (2) e
(3) ™ (4) Hr=E

Twe e et § F w5l i osfe
W e e wRE (NLep) &
F=wia A8 A R 7

(1) SREET (2) 9 o
(3} =FY GPR ¥ (4) 3= 9vR e

FPHETE FEM & fraf % fom
TSI THR I At wrmfh dter
% sipi mrer- e 4 3 3f o e
& W w1 U R T w e
foenfifat # Refra wmrr wem <61 o
# | 7% fifvea ooim 2 -

(1) | ¥ 9% & &9 - 9 & 555 400,
(2) 1.5 ¥TE 594 & %0 - 9 Y &1 4505
(3) 2¥TE 399 & 59 - FH T F7 50%
(4) 2.5 598 & &1 -5 & 57 550
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73,

4.

75,

76,

77.

78.

Which of the following item provide
maximum revenue in the Revenue
Receipts of Rajasthan budget in recent
yvears 7

{1} Share in central taxes

(2) State's tax revenue

(3) Non-tax revenue

{(4) Union grant

Which of the following thermal power
projects has the highest installed power
capacify ?

(1} Suratgarh (2) Chabbra

(3) Kalisindh (4) Kota
Rajasthan Government has established
the first Skill University in the state.
Where was it established

(1) Ajmer (2) Sikar

(3} Kota (4} Jaipur

Which of the following is nat the
Unique Selling Proposition (USP) of
Rajasthan in tourism sector 7

(1} Palace on Wheels train

(2) Forts, Palaces and Havelics

(3} Fairs and festivals

(4) Medical tourism

Which of the following is not
considered as oil field of Rajasthan ?
(1) Aishwarya (2} Mangla

{3} Ganga {4) Saraswati
Which one of the following lakes of
Rajasthan 1s not covered under National
Lake Conservation Programme (NLCP) 2
(1) Fateh Sagar Lake

(2) MNakki Lake

(3} Swaroop Sagar Lake

(4) Ana Sagar Lake

Government of Rajasthan’s Post-Matric
Scholarship Scheme for students of
minorily communities provide financial
assistance to  those having a
combination of parental income and
percentage  of marks in  previous
examination. That combination is

(1) less than T | lakh - at least 40%
(2) less than T 1.5 lakhs - at least 45%
(3} less than T 2 lakhs - at least 500

(4) less than 2.5 lakhs - at least 55%
o
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79.

i1.

FA |

(3) anfir faenta i Free =t
£3 arfereRIat ot WIRE e |

(4) arEmad &= § TR WEH A |

afgerdt T 4 e wE w0 % fe

T W4 aTen FEEH (MPoWR)

e g wafia @ 7

(1) uftrr fem d (d ) g

(2) A FeUgE  wEEm wEed
(JICA) g

() B fe % fae sridE Fi

(Fmé.us.udl,) U T A g

(2)

(3) T
(4) el T

fraferfia & @ &R @ o W-SegEnE
W HFEEWE ?

(1) TH (2) T

(3) ¢ (4) TR

amr @ =t fole s d ImEm R T
arell 7ol 2t #

(1) X-Feut (2) T-dr R
(3) e fewdl  (4) T R
W HEw & s % for e % i ®
wTIg: e 4T ) I e ST @
() WH () @ TR

(3) TegRfemd (4) @A
on ¥ AR (UHF) 1 a0l s
derrfia 1 5w #

(1) Ao Ferd

(2) R AT % &Y H

(3) et wo & w9 d

(4) TN HEIH

i3

79.

31.

82,

83

85.

Main objective of Swavalamban

Yojana in Rajasthan is

(1) To improve the living standard of
poor women, widows. separated
women and rural women.

{2} Toimpart training for unemployed

(3)

(4)

TSORS. ?

lI)‘?r impart training to SC/ST and
OBC unemployed girls,

To provide  employment  in
unorganised sector.

Mitigating  Poverty in  Western

Rajasthan (MPoWR) Programme is

supported by

(1) Asian Development Bank (ADB)

(2} Japan International Cooperation
Agency (JICA)

(3) International Fund tor Agriculture

Development (IFAD) and Ratan

Tata Trust

Canadian International

Development Agency (CIDA)

(4

In which of the following projects for the
first time, sprinkler irrigation system has
been made compulsory in Rajasthan ?

(1} Parwan Project

(2) Dholpur Lift Project

{3) Narmada Canal Project

{4) Takli Project

Which of the following is an example
of a non-cellulosic fibre ?

(1) Rayvon {2} Linen

(3} Jute (4) MNylon

The waves used in common TV remote
control are

{11 X-Rays {2y Ultra-violet Rays
(3) Infra Red Rays (4) Gamma Rays

Which metal is generally used for
coating of brass utensils to prevent
copper contamination 7

(1) Tin (2) Zine

(3) Aluminium  (4) Lead

Waves of the Ultra High Frequency
(UHF) range normally propagate by
means of

(1) Ground waves

(2} Sky waves

(3) Space waves

(4) Surface waves

oo
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86,

87,

BE.

89,

Wﬁmﬁﬂmmuﬁa%
(1) v e o

Wma%-mr#ﬁﬁtrﬁfﬁgﬁﬁaﬂw

T A HE R 7

() =5y 24 GHz el sgfy o
Vg A B i a2 4
GHz 31931 5 GHz 3afer vg s
& TFA R |

(2)

(3)

(4) 3%.4 GHz

aqaﬁ HA & el
TH-FIE 2.4 GE;EE 5 GHz Fmfa
TE VIR HUEFAI L |) 7 (S e
I (WLAN) % fom
T B 8 Al a-wE e

fitgn g

-

T (WWAN) & i
;;;ﬁ?ﬂ% F]"Hffél
A. Tashm wrmT siafe fiigm (3we)
&% (VSSC)

B. 3,319 3umg F= m

) )
o ?Essﬁqm%ﬁ%ﬁr@ )
D. wredtr } '
I9T ¥ & B A gm g
()
(3 B.CTID(4) A.B.CHaTD
FTEYH T fom we (Samdish) g
Torenfirm el o a2 2
() w=E (2) TR

mﬂ;ﬁmﬁwa‘«ﬁq:

(URSC)

TETH (1IRS) ?a;ﬂ%)
Frerfrfism & = o wich) - aefer s aan
{31*% (4) ufdre
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RS,

s 9+

The machine language of computer is
ased on
(1) Abstract Algebra
(2} Matrix Algebra
{3) Boolean Algebra
{#) Linear Algebra
Which of the following difference
between Bluetooth and wi-f is cormreet 7
(1) Bluetooth uses 24 GHz radio
frequency band, whereas wi-f can
use 2.4 GHz or 5 GHz frequency
band.
Bluetooth is used for Wireless Loeal
Area  Networks (WLAN) only
whereas wi-fi is used for Wireless
Wide Area Networks (WWAN)
only,
When information is transmitted
between  two  devices  usin
Bluetooth technology, the devices
have to be in line of sight of each
other, but when wi-fi technology is
used the devices need not be in the
line of sight of each other.
Both the statements (Bluetooth uses
24 GHz radio frequency band,
whereas wi-fi can use 2.4 GHz or 5
GHz frequency band.) & (Bluetooth
15 used for Wireless Local Area
Networks (WLAN) only whereas
wi-fi is used for Wireless Wide Area
Networks (WWAN) only.) are
comreet in this context.

Consider the following pairs -
ISRO Centres Location
A. Vikram Sarabhai Trivandrum
Space Centre (VSSC)  (Kerala)
B. UR Rao Satellite Bengaluru
Centre (URSC) giimataka}
C. National Remote radun
Sensing Centre (Uttarakhand)
Hyderabad

(MRSC)
(Telangana)

(4

D. Indian Institute of
Remote Sensing
([RS)

Which of the above pairs are correctly
matched

(1) A&Bonly (2} A, B & Conly

(3) B_.C&Donly (4) AB.C&D

Which of the followin palyherbal

product has NOT been eveloped by

the Defence Resecarch and

Development Organisation [kDRIZ_I{!} :

(1) Amtooth {2} Lukoskin

{3) MNoedurna (4) Eczit
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a0.

91.

912,

93.

94,

W 1 TEe ZwE-E # R (BVR)
FA--FE A AR W wen e
yyfirwfed (designed) T8 81 SFIHUH
it fasra @@a (DRDO) 0

wEHTE R .

(1) g (2) #f

(3) w® (4) HIEME

i o e A, ~#fl 37 3 g0 U # 95H
# 15 wad, 2017 H TR
Juwg wHita e e ¢

(1) 80 (2) 104

(3) 72 (4) 98

s = Fagedl F0 F 39 us fa 107
et & &5 8, ST 8

(1) gt aiidemer  (2) Tt o

) Fimfwa  (4) T iEw

Fier | i wiem || 2 gfem =, F= fE
Ty el i FEE @ Wl I W
#Hifag

e | e 11
A TIET-TER (i) EEr
B. W RO (i)
C. Em T (i) TRl S
D. S {iv) TR
E. =i (v)
HiE

A B € D E
() Gy (v) (v i) @)
(2) () (i (iv) (v) (i)
G) (v) () v (i) (i)
mnﬁ (iv) (v} (i) TQ}
s wem 21 6 By
ERICILIN
(1) gt % fa
(2) FEATEAHEEL ¥ forn
(3) =T *
(4) ot frm & e
g nfafafiel i ges UE 3o
TerE weE Y 8 I 1 grE i
fNFTEA B FEE
(1) HEA SETEHTES TIHS
(2) =hIEE 9EEE

(3) =HTEA T
(4) TR Sy

o0.

91.

92.

03,

95.

India's first Beyond-Visual Range
(BVR) air-to-air missile indigenously
desipgned & developed by Defence
Rescarch & Development Organisation
(DRDO) is :
(1) Prithvi
{(3) Astra

(2) Agni
{4y Akash

How many satellites were launched
successtully by PSLV-C37 in a single
tlight on 15 February 2017 ?

(1) 80 (2y 104
3 72 (4 98
A particle having at lcast one

dimension less than 1077 metre, is

known as

{1) Micro particle (2) Milli particle

{3) Nano particle (4) Macro particle

Match column | with column II and

choose the correct answer using the

codes given below :
Column -1

A, Grape Sugar

B. Fruit Sugar

C. Milk Sugar

Column — 11
(i) Fructose
{ii) Sucrose
(iii) Matural

Sweelner
D. Table Sugar  (iv) Glucose
E. Stevia {v) Lactose
Codes :

A B £+D E
(1) (i) (iv) (v (i) (1)
(2) () (i) vy () (i)
(3) Gvy () (v) i) (i)
(4) (i) (v} (v) (i) (m)
[n humans trisomy of chromosome
number 21 is responsible for
(1) Haemaophilia
12y Klinefelter Syndrome
(3) Down Syndrome
(4) Tumer Syndrome

The total amount of green-house gases
produced, to directly and indirectly
support human activities, is referred to as
(1) Carbon dioxide index

(2) Carbon footprint

(3) Carbon sequestration

(4) Carbon capture
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7.

u8.

99,

100,

101,

et 99T & forg fofefan 8 4 e 3

T e v ¢

(1) T sTsiazs st gt

(2) RS st e
SRS

e 87 3 forfir fig o et &
H F ¥ ey w1 vRrdE 59 (i)
siffvm, 2017 4, g5 & o @
foeitfs fpm mar 2 9

(1) wim (2) ®iher

(3) =\ (4) Her

DNA%-&%HM%

(1 ==

(2) 5= 3rgem ) feai

(3) DNA ufaspfy

(4) DNA &g&m

rrﬂaﬂﬁﬁnmmgﬁmﬂﬁﬁhﬁrt

(1) gurEr, A=ir g

(2) =vEn, Syt

(3) s, e i

(4) gigy, s i

ﬁqﬁsﬁ@aﬁﬁﬂﬁqmmﬁﬁ%

weidadiadie |

(1) 8 N-Pefmiy  wet Ed
ST TR H @R |

(2) 56l SR T G
sftw e 23 4

(3) TE 7 mfie el £ fArfem
WisEn ) g w3y 8 |

(4) Frefipa g1 At wereit § i sfe
ufedi & srfire anfa 83 8 |
TSR H H Sepsmen fee 2

(1) g d (2) Fzagr
(3) =wia# (4) AT
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100,

101,

Which  among  the following
environmental pollutants are
responsible for “acid rain™ 2

(1) Carbon dioxide and Mitromen

{2) Carbon monoxide and Carbon
dinxide

Nitrous oxide and sulphur dioxide
Ozone and Carbon dioxide

(3}
()

Which of the following plant, grown in
non-forest area has been omitted from
the definition of trees iy the Indian
Forest {Amendment) Act 7

(1) Palm (2} Canes

{3) Bamboo {4) Banana

The basis of DNA finger printing is
(1} The double helix

(2) Errors in base sequence

(3} DNA replication

4) DMNA Polymorphism

National Researcli Centre on seed

spices is located at

(1} Doomara, Ajmer

i2) Mandore. Jodhpur

{3) Beechwal, Bikaner

(4) Durgapura, Jaipur

Which of the following statement s

incorrect in reference to compost ?

(1} In this, biodegradable waste is
decomposed in pits.

(2) It is rich in organic matter ang

nutrients,

The process of decomposition in

pits is slowed down by

earthworms.

The waste material decomposed is

farm waste material Jike livestock

excreta, vegetable waste etg,

(3)

(4)

Solar observatory in Rajasthan is

located at
(1) Jaipur (2} «Udaipur
{3) Kota (4) Ajmer
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102.

103.

104.

Eﬂﬂﬁﬁﬁmﬁ:m?ﬂm.;.
|
HYA zafy = dier & TR i a8
g |
qﬁaﬁ'ﬂﬁ:l.ﬁimﬁaﬁaﬁinﬁi‘rﬁm‘?
A |
L wfw wEE
Pz T |
aw, SR I AR R ?

(1) e | e st § |

(2) et 11 e ST 2 |

(3) 3t 1 3t 11 e ol § |
@) a1 1L AR e seffEa

e o T iford —

A ¢ iy gltensdl % =M
1 FebTen Iqeieadl
3 IneR T T At
7 e el = 7

1. wdf, it = s
ITHTE

TFEHEAT A B |
e dwEm, FA T ok A R 7
(1) %l (2) e 1l
(3) A LA (4) BTN

YA wft s R |
aoft o ol € |

P . 1 @t v wfEi @ |
1. e ot e d
11, = e e 2 |
[y, wvit afeEi TmEmd # |

e A

(1) S 111 AT 1V S

(2) wlt e E |

(3) Fae | 1l e S E

(4) ré FFAE T H |

102. In this question, a statement is followed

by twao assumptions :
Statements : Though he is fat yet he

runs fast.
Assumptions | : Fat pcople have weak
muscles.
Il : Fat people
generally cannot
run fast.

Then which of the answer is correct 7

(1) Only s implied in the statement.

(2) Only 1l is implied n the statement.

(3) Both | and 11 are implied in the
statement.

(4) Neither 1, nor [1 is implied in the
siatement.

. Consider the following :

Statement: Should there be recruitment
in Government service on the basis
of past academic performance
rather than through competitive
examinations 7

Arguments ;

| Yes, it will be beneficial for those
candidates who are unable to bear
the expenses of competitive
examinations.

Il. No. the past  academic
performance cannot be made the
hasis of recruitment because there
is no uniformity in the assessment
by the Universities.

Which one is/are the strong angument/'s ?

(1) Onlyl (2) Only 1l

(3) Neither I, nor [1(4) Both I and 11

. Statements : All branches are flowers.

Al flowers are leaves.
Conclusions &
1. All branches are leaves.
II. Some leaves are branches.
1. AN flowers are branches.
V. All leaves are branches.
Give Answers :
(1) Only Il and IV follow
{2) All follow
{3) Only | and I follow
(4) MNone follows
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105, 3 srfafEEl % @y U WA A9 fewr | 105, A statement with two courses of action
TR | T sy =+ urds i wey 15 given below.
HIAT % qUT g o St LRIl F AR You have to assume everything in the
W ghffaa =i fs GUET R s n s & statement to be true and on the basis of
T EODEIE T A the information given in the statement,
T w7 ol Ty & decide which of the sugyested course of
Ry w9 HE 3 e action logically follows *
ST Statement ; A large number of
Hmﬂkaﬁlqliﬁqm AT cmph;}'ees have gone on a mass
casual leave in protest against the
: | el 5 E udf Aify =) cOmpany’s new recruitment policy,
gqmmqqﬁﬁ:hmﬁq I Courses of action :
1. 59 b+t sd=ifii =) de L. The company should immediately
i T Frefem &t i withdraw the new recruitment policy.
: 1. All these  employees  should
o . immediately be suspended from
it their service,
(1) Fa] HAE R | Given answer :
(2) 9 11 Srerow wa 2 | (1) Only I follows
(3) A LTy FTAO TR | (2) Only Il follows
(4) B 1 e [ S wE E | (3) Neither I, nor [1 follows
3 {4) Both [ and I follow
106. & i L Foeit <t wem st | 106, The difference between the number of
AT Tt &) w5 TR - triangles and number of parallelograms
in the following figure is -
e
1 e
(1) o0 (2) 1
3) 3 4 () o {2) 1
G - 3 (3) 2 ) 3
107. A 4+5_2=333M 10+ 125~ 107. If4+5-2=33and 10+ 12— 5=}9
19,7 6+8—3 = then6+8 -3 =
{3) 67 (4) 57 (3) 67 {4 57
108, =of shoft 108. Next tenm of the letter series
YB WD UF SH YB WD UF SH
gl WE W
ST U R is
Pl | Pl
(0 % @ (n 9;:‘ 2 v
PK J PK i
(6} (4) %— (3) & (<) %
109. e g 109. Pick out the odd one
0o 23 o
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110,

111

112,

113

114.

115.

U 2 AT

1: “lew nas hsi ploy™ s aref & “she is
bringing coftee’.

I, “wir sut lew ploy™ 51 1 & “he is
bringing tea”.

. “sut lim nas” %1 a1 ® “tea and
colfee™.

Rt e % T T H w1 ] W

Y

{1y wir (2} sut

(3) lew (4) ploy

s A fmm B AR 1B T C
s g DFFAR B A @R IC
fafen 2 SIS TG E | E, B P,
21 Afre TR B R TR ?

(1) e (2) dH

(3 (4) et Mt

ﬂﬁ.f.}',xmﬁ'@ﬁiﬁm
_1-+}-*z=ﬁaiﬁﬁﬂﬁ*ﬁmﬁ:
(1) 3 (2) 7

(3 10 4 12

S T T SEEHl & S
= v s 4 A - Rt e
ST 2, Al A wwwet A 74 g
2 | i Al A

(1) 12 (2) 15
(3) 17 4 19
& Fragadt ®1 FR S T 6w

723007 |1 % U | e e
w2 | 2 e w FEE e A
e da femag wR I
ﬂtﬂ?gﬁﬁﬁﬂu@ﬁﬁ%maﬁ%m

(1) 7:5 (7y 7:12

(3} 14:13 (4) 2:11

e oo oprd o e, st it 3
TR0 4 | FIEA A FE R E |
‘dﬂ?ﬁ‘ﬁﬁflﬁﬂ;kﬁﬂw%lﬂﬁ
60 31V 3R T -vE W 8, at gt
wrt i we o weel T 2,850

3 | v w= =i A TRl WU E
(1 =5 2y T6
@3} 37 {4y T8

24

110,

1.

112.

1.

114.

115.

In a code language,

[: “lew nas hsi ploy'means “she is
bringing coffec™.

I, “wir sut lew ploy” means “he is

bringing tea”.

111, “sut lim nas™ means “tea and coffee”,

Then which word has been used for “he™?

(1) wir (2} sut

{3 lew (4) ploy

Mr. A meets Mr. B, B is the father ot a
son C and a daughter D. E is the mother
of A. C is married and has one son. E 15
the daughter-in-law of B. How is A
related to B 7
(1) Uncle
{3y Son

{2y Grandson
{4) NMephew

It x, v, # are natural numbers, then the
number of different solutions of the
equation x + y +z =6 are ;

(3 (2) 7
(3 1D (4 12
The product of three consecutive

positive numbers is divided by each of
them in tum, the sum of the three
quotients will be 74. What will be sum
of three numbers 7

{1 () 13

(3 17 (4) 19

Two alloys are made by gold and
copper in the ratio of 7 : 2 and T
respectively. Same quantity of both
alloys are mixed and third alloy is
made. In this third alloy, ratio between
gold and copper is equal to

LY TiS (2 7:12

(3) 14:13 (4) 2:11

Oin a construction site, men, women
and children are working in the ratio of
- 4 - |, Their wages are in the ratio of
g - 5 - 3. If 60 women are working on
this site, then total daily wages of all
persons is ¥ 2,850, Daily wages of a
child is equal to
{1y s

(3) 27

() T6
(4) T8

00
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116, ﬁ@ﬁmﬂmazmm%;ﬁ
usﬁ%aﬁaﬁrﬁ%?ﬁ%ﬁhaéﬁ
TH STEE 1 4} 0
(1) 760000 (2) 840000
(3) BBOOOO (4) 800000

117. O fafesa ofer w10 aifs w2 9
% fom TR qYT ETROT 54T ]

3 T 874 B | TR s Fifre |
(1) T43.700 (2} T 7480
(3) T37.400 (4) T43.450

118. ﬁﬁﬁﬁﬂﬂﬁﬁﬁﬂﬂﬂ'ﬁﬁqﬁzmﬁﬂ
37 8 et B el 2 1 9 a9t & = ofyy
o R kT 8 SR | ke
87
(n 8
(3) 9

(2) 6
(4) 10

T T 119 7o 120 Ty arferesr o anuria
& | Sl e e Goflag e o wen (e
o) zaidt 2 .

%\qﬁ 1990-91 | 2000-01 [ 2010-11
B 4,77 9.27 2538
g 1.02 .71 351
h 2.46 3.04 11.04
= 0.81 285 4527
¥y 012 [.08 11.82
F 018 19.95  [97.02
9. forg amg & 200001 & 2010-11 75

=fraw wfov g gE o

(1) &m (2) &=

(3) F=pR (4) 3=

120, a&zmu-mﬁzmm:waﬁ:ﬁaﬁlﬁ
we d wfawrd afz = 1990.91 @ 2000
01 % Fe arel § sfowr gfz & am
e s &, & 2000-11 4 =

&l HET (et 1) o g -
(1) 42 (2) 425
(3) 48.15 (4) 43.36
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L16. The population of a small city is
926100, If it increases at the rate of 5%
per annum. What was the population 2
years ago
(1) 760000 {2} 840000
(3) BROOOO {4) 800000

117. The difference between the compound
interest and simple interest on a certain
sum at 10% per annum for 2 years is
T 874 Find the sum
(1) T43.700 {2) T 17480
(3} T 87400 (4) T43.450

H8. A sum of amount at certain rate of
compound interest doubles in 3 vears. In
9 years it will be k times of the original
principal. What is the value of'k ?
(1 3 (2) &
(3) 9 (4) 10

Qn. No. 119-120 are based upon following
table which shows number of registered
vehicles (in lakhs) in a Iy,

Year | 1990-91 | 2000-01 | 2010-11
Vehicle
Car 477 0,27 2538
Bus 1.02 L1 3.51
Truck 240 5.04 [ .04
Scooier .81 2,85 4527
Others o1z 1.08 11.82
Tatal o018 19,95 97.02

119. Which vehicle has increased minimum
in percentage from 2000-01 to 2010-1] 2
(1 Bus (2) Truck
{3) Scooter {4) Others

120. If percentage of increase of fotul
number of -vehicles from 2000-01 1o
2000-11 is made equal to the
percentage of increase of total vehicles
from 1990-91 to 2000-01, then total
number of vehicles in 2010-11 would
be equal to (in lakhs) :

(1) 42 (2) 425
(3) 48.15 (4) 43.36
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e i 3 2018 % 9 3 IS A
fafirm wel § = 3 I w94 W
ﬁmﬁnwéaﬂmﬂmmb
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o
g
Ll

Fe =1 13.200 %5 = 16,500
FTaTATE S i e = e A
A g it siftrs & 7 (FFT6T)

() 45% (2) 39%

(3) 36% (4) 27%

T wET o e 3 TR-eef
Hofai & ang-m fafime &=t 7 91
3 el it 3 we v R T
% fore e T Hieda ol R R | 9
i 1 A R 7

(1) =R (2) FER

(3) Fem (4) Hem
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(309t T S 2 | TEd wIEAE °
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(3) wE (4) wia
e e ) e I whEen w aEw

T ST vy wd " i
e, s e o e fefi sttt
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e g Ren T 2 |
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wees Frgm P 2 |

(4) 3% HY s a7 AT H 4
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121. The following pie charts provide the
details ahnujl; l:hc ‘breakup of the
expenditure of a family under different
heads and its savings in the month of
June and July of 2018.

Jurs F01E

Educaton ~ -:,:- g Edhuc ali

kY -"'ﬂr:ﬁ
. .- =y Food 20%

Cinaing —
15% - m;n. T e
Total : ¥ 13,200 Total : T 16.500
By what percentage does the total
expenditure on transport and food in
July exceed the same in June 7
{approximately)
(II;P!:;S% (2} 3%
(3) 30% {4) 27%

122. A new software has been launched by
Rajasthan government for menitoring
of seasonal and non-communicable
diseases as well as the trends of
ailments found in specific areas. What
ia the name of this software ?

(1) Upchar {2) Cure
(3) MNidaan {4) Sehat

123. The team of China has won the 2018
BWF Thomas Cup (30" edition). It
defeated the team of which country in
the finals 7
(1) Thailand (2) Japan
(3) France (4) India

124. An Indian-American woman has been
named as the Chief Finance Officer of
General Motors, the largest automaker
of the United States of America. What
15 her name 7
(1) Divya Suryadevra
(2) Deepika Suryaburman
(3) Devika Saraswati
(4) Deepali Surlaxmi

125. Why was Sharad Kumar, former Director

General of Mational Investigation

Ayi'cnﬁy, was in news rece‘rg‘iiy e

(1 ¢ has been appointed as advisor to
the Gavernor of Jammu and Kashmir.
(2) He has been appointed as
Vigilance Commissioner n the
Central Vigilance Commission.

He has been appointed as member of
the National Human Rights
Commission.
He has been appointed as member
of the Union Public Service
Commission.

(3)

(4)

o
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9, 2018 7 wefRn & s ufien
ﬁﬁzqﬁmmg‘mraﬁaﬂ—zn )
AR 3 <ffen & | S1eAe o fba Jhy 7
T ?

() e (2)

(3) st (4) uTSFvE

o, zmsﬁmmnﬁﬁrrﬁamﬂm'ﬁs

wﬁ#uﬁﬁﬁﬂmﬁi‘fﬁ?ﬁwaﬁ:

() 581 FgaTA WY YR
Fei it Fi are 2w R

T |
(%) 78 =1 A Gz ok & T @ s
T |

(/) a8 T & T o flrm 2 |
e & @ E1/H R B8
() (@M@ (2) Faw (a)
(3) (F)3M(F) (4) Fuer (7)

T, 2018 % iy ezl Shres 7oy st
Il Fifen % Jar fow S = % we
Wit e wat aaifm £ 7

() Pam-aims (3 fyate d

(3) fmy (4) gt if
Brafia M sname ‘wremem & 206t
Hew 9, 2018  wwifom wam | 5

mﬁm%mﬁrﬁaﬁaﬂﬁh%ﬁ
it 3 e fooran 2

& e

(2) =

(3) A 3 ferrem

(4) T 37 T = sl

G G T % SR 9w st
ﬁamﬁﬁmfﬁm%ﬁ;%qgﬁmn

W8 7 =R I s g
gwﬂﬁ ? B

(1) fswnr (2) fawr

(3) TiPEa =n (4) fmar =n
131. mmﬁm@mﬂwﬁm

a#%fmﬁmmir*waqﬂg&

A s R

(1) Ierorem (2) fufdm

(3) HEw (4) TrorEm
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won the Women's
Trophy (Twenty-20
in Malaysia in June
team was defcated in the

Bangladesh has
Cricket Asia Cup
Towrnament) held
2018. Which
finals ?

{1} Pakistan
{3} Sri Lanka (4} Thailand

Consider the thllnwin%‘_ statements

regarding the first Mega Food Park of

Rajasthan established in March 2018 :

(A) It was inaugurated by Union
Minister for Food Processing
Industries Harsimrat Kaur Badal.

(B} }: i*i known as Smart Mega Food

ark.

(C) It is located at Roopangarh in
Ajmer.

Which of the statement/s given above

18/are correct ?
(1) (Ayand (B) (2 Only (B)
(4) Only(C)

(3) (A)and ()

Where was the historic meeting
between US President Donald Trump
and North Korea's Leader Kim Jong
Un was held in June 2018 »

(1) Pyongyang (2} Scoul

(3) Singapore (4) Taipei

The 22™ edition of the Malabar
Trilateral Naval exercise was held in
June 2018. Beside India which other two
countries teok part in this exercise 7

(1} Russia and Japan

(2) Russia and Bangladesh

(3) Mepal and Vietnam

{4} Japan and United States of Ameries

{2} India

Harvana Government has launched a 7-
Star Gram Panchayat Rainbow Scheme
tor give star ranking to jis panchayats on
the basis of Seven Social Parameters.
What star ranking is given to those
panchayats that make outstanding
performance in improving sex ratio 7
(1} Pink Star {2) Green Star
(3) Golden Star  (4) Silver Star
Which State has started a scheme called
“Kanya Van Samruddhi Yojana" to
tmpower women and promote tree
plantation ?

(1} Uttar Pradesh (2) Sikkim

(3) Maharashtra (4) Rajasthan
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132

134.

135

{3} 80 Giga watt

Recently the Capital of one of the
North-Eastern States has been declared
as 100" Smart City by the Mimstry of
Housing and Urban Affairs. Which is
that state !

(1) Mizoram
(3) Nagaland

() Meghalaya
{4) Manipur

 On 24% June, 2018, India’s team of four

Para-swimmers crossed the English
Chamnel in record time of 12 hours and
26 minutes. Out of them, one was from
Rajasthan. Who was he ?

(1} Mahesh Chandra

(2) Jagdish Chandra

{3) Virendra Kumar

(4) Satyendra Singh

The Government of India has set a
target of achieving how much solar
power capacity by the year 20227

(1) 20Gigawatt (2} 40 Giga watt

{4) 100 Giga watt
Recently India’s Deepika Kumari won
the zold medal in Women's Recurve
event at the Archery World Cup
{Stage 111). Where was this World Cup
Competition held ?

{1y Berlin (2} Cortina

{3) Salt Lake City (4) Samson

After appointment of Justice Indu

Malhotra, the number of Women

Judges in the Supreme Court of India

has reached two. Who is the other

woman judge 7

(1) Justice Rooma Paul

(2} Justice R. Bhanumati

(3) Justice Gyan Sudha Mishra

(4) Justice Sangeetha Prakash

Yousuf Saleem of Pakistan has been in

news recently. Who is he ?

(1) He is the first ever visually
impaired judge of Pakistan.

(2) He is the captain of the Kabaddi
team of Pakistan.

(3) He is the youngest player of the
Pakistan Crieket team.

(4) He is the captain of Hockey team
of Pakistan.

00
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Consider following statements ahout

Electoral Bond Scheme 2018 -

(A) The aim of this scheme is to bring
abeut transparency in the tunding
process of political parties.

(B) Only  the political parties

recognized by the  Election

Commission which secured not Jess

than two percent of the votes polled

in the last general - clection to the

House of People or the Legislative

Assembly of the State shall be

eligible 10 receive the Electoral

Bonds,

Electoral Bends shall be valid for

fifteen calendar days from the date

of issue.

{D} The Electoral Bond deposited by an
<hgible political party in its account
shall be credited on the sume day.

Which of the above statements are correct 2

(1) Only{A)and (B)

(2) Only (A). (B) and (C)

(3) Only(B).(C)and (D)

(4) Only (A), (C) and (D)

Recently  which  space agency

successtully launched the world's

smallest satellite carrving rocket 7

(1) NASA (2) ISRO

(3) CTNSA {4) JAXA

{C)

Dr. Krishna Jakhar of Rajasthan has
been awarded the Sahitya Akadami
Prize for Rajasthani translation 2017,
She is awarded this prize for which of
her work of translation 7

(1) Gatha Tista Par Ri

i2) Bhint
(3) Aadane Dharyodi Aankhanya
(4) Toba Tek Singh

23 writers have been selected for
Sahitya Akademi Bal Sahityva Puraskar
2018. Who among them is selected for
the Rajasthami Language?

(1) Dr. Chetan Swami

(2) Dr. Iyoti Punj

(3) Mohan Alok

(4} C.L. Sankhlav
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Hﬂmﬁﬁ'ﬂ.:

(1) (i), Gy TE (iv) (2) () (D)
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142.

143,

IMG

145,

Match the following :
Dynasties Capital
Shung i. Mahoba
Qutavahan i, Banvasi
Kadamb 1. Paithan
. Chandel iv. Patliputra
wose the correet codes @

A B C D

(ay iv i @

(2y iv o i i

(3 i w0 i

(4) i 1 ii v

SRl e

C

=

Which of the following statements

about Temple Architecture arc true 7

(i} The freestanding (mortar & stone)
temples are supposed to have
originated in the Gupta period.

(ii) Ladkhan. which is one of the
garliest temple  belongs  to
Chalukya of Badami.

(ii) In  Khajwmho temples, all the
compartments of the temple are
connected intemally and externally.

{iv) Kailashnath temple at Kanchi is
the carliest freestanding temple of
Dravid style,

Choose the correct answer :

(13 (i) (i) & Gv) (2) ) & (i)

(31 (i) (i) & (iv) (@) (Q). (i) & (iii)

Which one of the following statements

is not true about Shreni System of

Ancient India 7

(1) Shreni was the orgamisation of
traders and artisans,

(2) Quality and the price of the

produced goods was determined

by the eoncerned Shreni.

Shreni used to control the conduct

of its memhers.

Shreni system was prevalent only

in Northern India,

(3)

(4)
Who created the department of
Diwan-i-Arz in Delhi Sultanate ?

(1) Balkan

{2) Ntutmish

(3) Alauddin Khilji

(4} Firoz Tughlag
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146. amﬁtmm %l yey g waftm 2 .| 146. The main seat (Peeth) of Varkari seet is
(1) siﬂﬂﬁ (2 Wﬁ situated at
(3) TR (4) SRR 3 (1) Shringeri (2} Pandharpur

{3) Nadia {4) Varanasi

147. Fefafas sensi = vd sy T ; 147. Choose the correct chronological order
(i) THETs gusta of the following events :
(i) == {i} Lucknow Pact
(i) Wi . (i) Formation of Swaraj Party

(ii1) Jallianwala Massacre

(iv) 11 e foveres <t 77 (iv) Death of Bal Gangadhar Tilak

Fretferfas {cﬂ‘ﬂa’ﬂ{gﬁq; Select the answer from the following
(1) (), (iv), (i) T (i) code :

(2) (iv), (id), () 9= (i) (1) th{ivL (i) & (ii)

(3) G, (iii), (iv) @@ (i) (2) (iv), (i), (1) & (i)

(3) G, (iid). (iv) & (ii)
(4} {0), (Wi, (iii) & (iv)

148. Frferfn 3§ & &% @ gm gifm T8 | 148, Which of the following pairs is not

(4) (i) (i), (iii) W& (iv)

27 correctly matched ?
e o, Institution Founder
(1) Wd=m 3% - %, fes (1) Servants  of — G.K. Gokhale
mﬁm India Society
(2) Hesffa et - oy s (2) Social Service — N. M. Joshi
RS League
(3) e wfufy - T, $E s
(4) e R s e (3) Se\f:Sﬂmlt.] - H. N Kunzru
ity (4} Social Reform - Shri Ram Bajpai
- Association
149. T ,GiTE-'I|§' ﬂmﬁ‘«'ﬂﬁﬂ?ﬁ 149. The revolutionary. who was not
L1 involved in Hardinge Bomb incident 7
(1) AR apR =2 (1) Master Amir Chand
(2) TTEdl " FiE (2) Bhagwati Charan Vohara
(3 qﬂmﬁm (3) Bhai Balmukund
(4) mﬁm {4) Avadh Bihan
150, Tiefi-gilem wueld A ey memw @ | 150, Whe played the role of mediator in
it g it ? Gandhi-Irwin Pact ?
(1) widfens Has (1) Motilal Nehru
(2) ﬁaag@q% (2) Tej Bahadur Sapru
(3) wiag= (3) Annie Besant
(4) Ta=memt (4) Chintamani
00 31 o
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